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Subject : English
Text Book : English for Today (Class Four) By N.C.T.B

Half Yearly Examination

Text Book : Unit : 1-23
Vocabulary

Rhymes : Traffic Lights
Cup, Cup, Cup.
Solomon Grundy

Brush Brush Brush

Letter : Letter will be passage related.
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Short Composition (Paragraph):

4. Your daily activities
5.Your breakfast

6. Days of the week
7. Traffic lights

Annual Examination

Text Book : Unit : 24-42

Vocabulary

Rhymes : The Kangaroo’s pocket
Months of the year

Traffic light

Letter : Letter will be passage related.

1. Yourself
2. Your family
3. Your favourite food and meals

Short Composition (Paragraph):

4. A garment worker
5. A famour painter
6. A trip you enjoyed
7. Occupations

1. Your favourite animal
2. Months of the year
3. A holiday

Marks Distribution

Read the text/dialogue and answer the questions 1, 2, 3 and 4.
[This text/dialogue will be given from 'English for Today' Class IV book.]
1. Multiple Choice Questions/Fill in the blank x5 =5
2. Write T for True and F for False statements. 1x5=5
3. Answer short questions. Five (5) short constructed response
questions will be given and students will have to answer all of them.
(Knowledge, understanding and higher-order thinking questions
should be considered] 3x5=15
4. Write a short Composition with clues or without clues.
(Capital letters, punctuation, correct spelling, and sentence
structure will be marked.) (Free writing or by answering a set of
questions related to text. Students will write at least five
sentences related to the given topic.)
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5. Match the words with their meaning.

(Extra 1 or 2 will be given in column B.) 2x5=10
6. Rewrite the sentences using capital letters and

punctuation marks where necessary. 10
7. Match the information in column A with the information in column B.
[Extra 1 or 2 information will be given in column B.] 2x5=10
8. Write the question words from the box to complete

the question sentences. 2x5=10
9. Rewrite the correct form of verbs in brackets.

[Tense discussed in the textbook content.] 1x10=10
10. Answer short questions/ Fill in the blanks by using information
related to date/ months/time/ cardinal & ordinal numbers in
tables/columns words for figures. Ix5=5
11. Write a letter with or without clues. 10

Total =100
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